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1. �������
�������� !"
#$%&'() (1)*��+,-./0

(2)*��1*��+,-./0 (3)*��2*��+,-./0 (4)

*��1*��34+,-./0 (5)*5�67+,-89:
2. ;<=%>��?@�A
BCDE�FGHI 90%. ;J�B!KLI%>MN
OPDE%>QRST
UVDEW>
QXY�A�Z[ST:$ (1)Q\YST]^>�'(0 (2)

QST]\Y%>�'(:
3. _`abHJcdeI 51:49, f_`H�gh(I 2%, aH�gh(I

0.25%.
,-ijkl��mJIgh
noJI`H�pqHIrst

4. u (0, 1)
8ijkvbmw
$%&'() (1)bwd1xO 1.2
 (2)b

wdyxO 1/4
 (3) z!bm{$|Z}~:
5 :_ij�� X ����wI F (x) = A + B arctan x, −∞ < x < ∞.

#$
(a)�w A, B; (b) X �-�9 (−1, 1)�'(0 (c) X ����w:

�:_ij�� (X, Y ) �����I P (X = 1, Y = 1) = 2

27
; P (X = 1, Y = 4) =

1

27
; P (X = 2, Y = 1) = P (X = 2, Y = 2) = P (X = 2, Y = 3) = P (X = 3, Y = 2) = 6

27
. (1)

$
X, Y �/���0 (2) �� X � Y P���0 (3)

$-
X = 1 Z Y �����z�-

Y = 0 Z X �����0 (4)
$

P (X = 3|Y = 2)
�

P (Y = 2|X = 3).

7. ���6����w
p(x, y) =

1

2π
exp{−

1

2
(2x2 + y2 + 2xy − 22x − 14y + 65)},

#$
(1)�w µ1, µ2, σ1, σ2, ρ

0
(2)
/����w pX(x)

0
(3)�����w pX|Y (x|y):

8. ��;���c� ¡¢p£¤¥¦§�¨
©-��ª«\Y¡�'(
I 0.2,

$-¬�ª«YrO�­¡�'(:
9. ®_ ξ � η ��
¯�°±u Γ- �� Γ(λ, r1) 1 Γ(λ, r2) :²³ ξ + η � ξ/ηX��:
10. ��´µ¶·�'(¸¹²³) (a)

∑
a−r

k=0 Ck+r

a
Ck

b
= Ca−r

a+b
;

(b)u6ºw8ijk»vbw
¼bw½¾�'(¿O 6/π2.
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